Bill of Material

No. Plan Article Quantity
1 Y006826 1599954 1
2 Y006187 1599800 1
3 Y011988 1669654 1
4 Y011987 1669854 1
5 Y011148 1669754 6
6 X003777 1900443 1
7 X001119 1001554 1
8 X003698 1004550 3
9 HANDLE HV8X15 1006661 3
| 10 M8X30 CAM 1001524 2
11 CLAMP 1900712 1
12 M6X20 ISO7380 1006999 3
13 KNOB M6X15 1009932 2
14 PLUG 15x15 1005899 1
15 EP00216 1913740 1
16* Soft Gray 1901176 1
Soft Black 2998159 1
|17 M8X35 CAM 1001526 1

With L44 backrest —

Plan No.

L58C TURIOS | FOREST 3 | TMIX | SIGMA

E00046527/D1.1

Scale: 3:10 Drafted Verified Confirmed
Date 2022-10-26 30/07/2024 30/07/2024
Initials PM MK

\V
W
VERMEIREN

000




